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Run 4597 triggerwise, sums: All

Entries: 4217464

Mean: 4393.4401 +/- 2.0246

Std Dev: 4157.7378 +/- 1.4316

Run 4597 triggerwise, sums: All
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Run 4597 triggerwise, sums: Beam OFF

Entries: 3577

Mean: 1250.7867 +/- 9.1548

Std Dev: 547.5328 +/- 6.4734

Run 4597 triggerwise, sums: Beam OFF
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Run 4597 triggerwise, sums: Beam ON, Laser ON

Helicity==0

Helicity==1
Entries: 913618

Mean: 5459.6382 +/- 5.5514

Std Dev: 5306.2486 +/- 3.9255

Entries: 912934

Mean: 5459.8539 +/- 5.5379

Std Dev: 5291.3662 +/- 3.9159

Run 4597 triggerwise, sums: Beam ON, Laser ON
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Run 4597 triggerwise, sums: Beam ON, Laser OFF

Helicity==0

Helicity==1
Entries: 1149096

Mean: 3558.1905 +/- 2.4888

Std Dev: 2667.8673 +/- 1.7598

Entries: 1149279

Mean: 3571.2480 +/- 2.4974

Std Dev: 2677.3601 +/- 1.7660

Run 4597 triggerwise, sums: Beam ON, Laser OFF
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